EMIS 8374 [Multicommodity Flow Problems]

e A network G = (N, A)
e U,; total capacity of arc (i, j)
o A set of commodities K each with its own MCNFP on G-

i 18 the cost of sending one unit of commodity k on arc (i, j)

— ufj < U,; is the maximum number of units of commodity &

that may be send over arc (i, j)

— b¥ supply or demand for units of commodity % at node i

e The |K| MCNFPs are linked by the shared arc capacity U,;.
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LP Formulation

> ijl' fj

{keK,(i,j)€A}

Yool - L= Vke K,ie N
{jEN:(1,5)€A} {jEN:(5,1)€A}

keK

k k
0 <z <y




